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6. ���


6.1. � ���� ������� �� !" �� #��$���"� � %� � 25%  " $&�#�� � %�. � �� �'%(���� ��
���� #�&  " �������� �)%�)�" � $%�)�" �!� � � %� , ��" $ ���! �� #�&� &�  ��)�% , #�
�� !" �� ���������"� � %� &� � *$�%�#�% & 3, � #��$���"� � %� ����&"�$%!$�" 12%  "
$&�#�� ��������� � %�. ���'$ ��+-,�%'� �� + � %� &� ��%� ���������
�'�$ ��#�%� � � %�  " "!- &� ��%� #��$���? 

�������: �� ������	 
 n ��

����� �
�� ����. (1 ".) ������ 25% ��� ����� ������ 1
4 
�

���� ��
����, �� ��
���� n � �
���� �� 4. (3 ".) �� �
��
�������� 12 3
100 25= 
�����, ��

��
���� 3n + 
� ���� �� 25. (3 ".) ��

�	 
��� ��
��, �
���� �� 25, ������, �� ��� ������	
�� ���� 3 �� 
� ������ ��
��, �
���� �� 4. (1 ".) ��	���� �
��
������� ��
�� �
���� �� 25: 
25, 50, 75, 100 ,... ���-	������ 
 �
������ 
���
��� � 75. �� ���� 
�������� 75 – 3 = 72 �
�
���� �� 4, �.�. ��
��������� 
� ���� ��
��
��� 72 ���� (2 ".), � �� ��� 72:4 = 18 
� ����
��
���� (1 ".). 

6.2. �� &� ��,��!" $&�#�� �$ +�� �&"�&"$��� #�&%� m � n, )� � �" � �)�'%��� 
21! 2! 3! !n m+ + + + =� .  

(& n! &�  )��#�$� �� �)$������" �� �&"�&"$���"� #�&%�  " 1 � n: ( )! 1.2.3. . 1 .n n n= −� ) 

�������:  ��� 1n = . ������ 21! 1 m= = � 1m = . (1 ".) 
 ��� 2n = . ������ 21! 2! 3 m+ = = � ��	� �
��
����� ��
��, �� ����� 2 3m = . (1 ".) 
 ��� 3n = . ������ 21! 2! 3! 9 m+ + = = � 3m = . (1 ".) 
 ��� 4n ≥ . ������ 1! 2! 3! 4! 33+ + + = (1 ".). �
��� ���� 5!, 6!, � �. �. ����
!��� �� 0. (2 ".)
"����������� 1! 2! 3! 4! !n+ + + + +� ����
!�� �� 3. (2 ".)  � ����
��� �� ����� �
��
�����
��
�� �� ����
!�� �� 3, �. �. ��	� �
��
����� ��
��, �� ����� 21! 2! 3! !n m+ + + + =� . (1 ".)
����������� 
�!���� �� �������� 
� �������� (1;1) � (3;3). (1 ".)

6.3. � "��'�'%���� ��	 " #�� � � &����"� �� &"����"� �	, � " #�� 
 �  " &"����"� �	 �
4AT TC= . ."&�#��"� �� � �
 &� ���&�#�" $ " #�� �. �� &� ��,��� ���$� #�&"  "

%�/�" �� #�"���'�'%���� 
��	 � %�/�" �� "��'�'%���� 	��.   

�������: ��������	� ��#��� TCMS S= . ���
���� 4.AT TC= , �� 4ATMS S= (1 ".) � 5ACMS S= (1 
".).
����� P � 

����� �� ��, 
�����������

5APC APB
ABM ACM

MPC MPB

S S
S S S

S S
= �

� = =�= �
. (2 ".)  

5 4 9ABT ABM ATMS S S S S S= + = + =  (1 ".),
94
4ABT BTC BTCS S S S= � = (1 ".).  

A

M

C

B

T

P



9 5
4 4BMC BTC TCMS S S S S S= − = − =  (1".) 

1 5
2 8CPM BMCS S S� = =  (1 ".).  

������
5 13
8 8TMPC TCM CPMS S S S S S= + = + = (1 ".) �

5
13CPM TMPCS S= (1 ".). 

6.4. �� �'&��"� � )���&�� #�&% "  4608. �&!�� ,��*"� #�&% "  " �'&��"� &� *,� (�$�
�%� ��%� (&�, �� ��%����" � $'), (� ��)  &"�"'�)  �� 2 �%� �� 3. ��)*%"�"'" &�
)���&$� �� �'&��"�, � &"�� " #�&% &� �)"��$�. �'), (� %� � " #� &%�� 33 #�&� � 27 
,��*"� �� �'&��"� �� � )���&�� #�&% "  27? 
%�� ��+-,�%� � %� ,��*"� #�&% "  27 
, (� �� &� � !$� �� �'&��"�?  

�������: ���������	� ���-���
��, �� ��
���� 4608 
� 
������ �� �
�
�� 	��������
�� 
������ ����� 4608 = 2.2.2.2.2.2.2.2.2.3.3, �.�. 9 ������ � 2 �
����. (2 ".) ��$��� �
�� ��
�
�
���� �������� � 
���� �� 9 + 2 = 11 – ������� ��
��. (2 ".) "��� �
��� 	����� �
��� ��
���� �
�
�� �������� 
� �
�	��� 
 1 (��� � ������, ��� � ��-	����), ����� �������, �� ��� �
�
������ 	����� �
��� �� �
�
���� �������� � ��� �������, ��� 
���� ����� � ��
����. (3 ".)
%
�	��� �� 33 ��
� � 27 	����� (	���� ��
���	 ����� 2007 	�����) 
���
�� ������� �
��
	�����. – (1 ".), �. �. ��
���� �� ��
���� �
���� �� 
���
�� ����� �
�� �
�
�� ��������, �
27 = 3.3.3 � 
 ������� �
�� �
�
�� ��������. "����������� �� � ���	���� �� 
� ��
�����
���� ��
�� � �
������ �
�	�. (2 ".) �� �� 
� ������ 27 �
���� �� ��
���� 4608 �� ������	 9-
�� ������ � �� ������	 ���� �
����. "����������� ���-�
����� 

�� � 9 +1 = 10 	�����. (1 
".)


